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SECTION - A
i) General Awareness

Match List — I with List — Il and select
the correct answer using the code given
below the Lists.

Minerals Mine
1. Zinc — a. Amjhore
2. Gold — b. Sukinda
3. Chromite - ¢. Zawar
4. Pyrite — d. Hutti
Codes :
(A) 1-a 2-b 4-c¢c 3-d
(B) 3-a 2-b 4-¢ 1-d
(C) 3-a 4-b 2-c¢ 1-d
(D) 1-a 4-b 2-c¢ 3-d

As per Census 2011, which one of the
following is the correct descending
order of States in India is respect of sex
ratio [female per thousand of males] ?
(A) West Bengal>Madhya Pradesh>
Uttarakhand > Jammu and Kashmir
(B) Madhya Pradesh > West Bengal >
Jammu and Kashmir > Uttarakhand
(C) Uttarakhand> West Bengal > Madhya
Pradesh > Jammu and Kashmir
(D) WestBengal > Uttarakhand > Madhya
Pradesh > Jammu and Kashmir

‘SAMPRITI - 2017’ is a joint military
exercise between armed forces of India
and

(A) Bhutan
(C) Pakistan

Infrared, visible and ultraviolet radiations/
light have different properties. Which
one of the following statements related
to these radiations/light is not correct ?
(A) The wavelength of infrared is more
than that of ultraviolet radiation.
(B) The wavelength of ultraviolet is
smaller than that of visible light.
(C) The photon energy of visible light
is more than that of infrared light.
(D) The photon energy of ultraviolet is
lesser than that of visible light.

(B) Bangladesh
(D) Myanmar

405

5. World Development Report is issued by

(A) IMF (B) World Bank

(C) WHO (D) UNDP

Read the following statements

1. During 1951 India’s literacy was 18%.

2. 2011 census female literacy is 65.46.

3. 2018 - 19 budget allocation for
education is nearly 3.5% of GDP.

Select the right answer.

(A) Only3 (B) 1and2

(C) All the above (D) 2 only

Which of the following is not a quantitative
tool of money supply used by the RBI ?
(A) Bank rate

(B) Repo rate

(C) Open market operation

(D) Margin requirement

Which of the .d.o__oé_:@ is/are example/s
for money ?

1. Currency notes and coins

2. Savings account deposits

3. Time deposits

4. Current account deposits
Select the right answer.

(A) Only 1 (B) 2,3and 4
(C) Allthe above (D) 1,2and4

When the sun is near the horizon during
the morning or evening, it appears
reddish. The phenomenon that is
responsible for this observation is

(A) reflection of light

(B) refraction of light

(C) dispersion of light

(D) scattering of light
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10.

11.

12.

13.

14.

Find incorrect statement(s) about light
and optics.

1. Due to reflection of light, the sun
is visible a little before the actual
sunrise and until a little after the
actual sunset due to refraction of
light through the atmosphere.

2. Mirages are creates by total internal
reflection of light between layers of
hot air.

3. An observer can see a rainbow only
when the sun is at 90 degrees to
his shoulder.

Select the correct answer.
(A) Only1and?2

(B) Only2and3

(C) Only2

(D) 1and 3

Sound waves cannot travel through a
(A) Copper wire placed in air

(B) Silver slab placed in air

(C) Glass prism placed in water

(D) Wooden hollow pipe loaded in a
vacuum

Ultrasonic waves are produced by
making use of

(A) ferromagnetic material
(B) ferrimagnetic material
(C) piezoelectric material
(D) pyroelectrical material

Which one of the following places in
india receives the lowest rainfall ?

(A) Ran of Kuchch

(B) Vidharba region

(C) Ladakh

(D) Jaisalmar

Guijjars, a pastoral community, are
associated with which one of the
following States of India ?

(A) Guijarat

(B) Rajasthan

(C) Jammu and Kashmir

(D) Sikkim

15.

16.

47,

18.

1)

20.

0 00 O

Total gold medal bagged by India in the
recently held ASIAD 2018 is

(A) 14 | -(B) 15

(C) 16 (D) 17

Ranapratab Sagar Hydroelectric Plant is in
(A) Uttarakhand

(B) Himachal Pradesh

(C) Rajasthan

(D) Punjab

Which of the following statements is true
regarding alluvial soils ?

1. ltis rich in nitrogen.
2. Not ideal for sugarcane cultivation.

3. Alluvial tracks are intensively cultivated
and densely populated in India.
Select the correct answer.
(A) Only 1 (B) Only2
(C) Only 3 (D) All the above

Which of the following is incorrect of
their formulation ?

(A) Wildlife Conservation Act — 1972
(B) Project Tiger— 1973

(C) Project Elephant — 1992

(D) Environment Protection Act— 1984

Atal Bihari Vajapayee, had been a Prime
Minister for

(A) One time (B) Two times
(C) Threetimes (D) Fourtimes

Consider the following statements about
pulses cultivation

1. Need less moisture.

2. Can survive in dry condition.

3. India exports pulses more than its

import.
Select the correct answer.
(A) Only 1 (B) Only 3
(C) 1and 2 (D) 1and3
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ii) General Intelligence and Reasoning Ability

(21 — 25) : Read the following information
and answer the questions.

The director of the institute has announced
that six guest lectures on different areas like
Leadership, Decision Making, Quality Circles,
Motivation, Assessment Centre and Group
Discussion are to be organised once on each
day from Monday to Sunday.

~ Motivation should be organised immediately
after Assessment Centre. Quality circle should
be organised on Wednesday and should not
be followed by Group Discussion. Decision
making should be organised on Friday and
there should be a gap of two days between
leadership and Group Discussion. One day
there will be no lecture (Saturday is not that
day), just before that day Group Discussion
will be organised.

21. Which of the two lectures were organised
on first and last day ?

(A) Quality Circle and Motivation
(B) Leadership and Assessment Centre

(C) Group Discussion and Quality
Circle

None of these

(D)

22. How many lectures are organised

between Motivation and Quality Circle ?

(A) 1 (B) 2
(C) 3 (D) 4
23. Which day will the lecture on Leadership
be held ?
(A) Tuesday
(B) Friday

(C) Wednesday
(D) None of these

24. On which day there is no lecture ?
(A) Tuesday
(B) Friday
(C) Wednesday
(D) None of these

25. When is lecture on motivation held ?
(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

26. A, B and C are three mountaineers.

Ais B’s brother. Bis C’s brother. C is not
A’s brother. Therefore C is A's sister.

(A) False
(B) Probably false
(C) True

- (D) Can't say

27. Statements :

I. | surf internet only when | am bored.

Il. | am never bored when | have my

friend’s company.

lIl. Whenever | go for holiday, | take

my friends along.

Choose the conclusion which logically
follows the statements.

(A)
(B)

If | am bored, | surf internet.

If | am not bored, | do not surf
internet.

(C) If I am not with my friend, | surf

internet.

(D) If | am bored, | go for holiday.
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28.

29!

Statement : Incessant rain for the past
several days has posed the problem of
overflowing and flood as the river bed
is full of silt and mud. '

Courses of action :

I. The people residing near the river
should be shifted to safe place.

Il. The people should be made aware
about the danger through media.

lll. The silt and mud from the river bed

should be cleared from the river
bed immediately after receding of
the water level.

Which of the following follows ?
(A) Only I and Il follows

(B) Only Il and llI follows

(C) None follows

(D) All follows

Statement : “If you want to study

management, join institute X" = A’s
advice to B.

Assumptions :
I. Blistens to A’s advice.

Il. Institute X’ provides good
management education.

Which of the following assumptions are
implicit ?

(A) Only | is implicit

(B) Either | or Il is implicit

(C) Neither | nor Il is implicit

(D) Both | and Il are implicit

30.

3l

32.

33.

34.

00 O R

if BOMBAY is written as MYMYMY, how
will TAMILNADU be written in that code ?

(A) ALDALDALD
(B) MNUMNUMNU
(C) TIATIATIA
(D) IATIATIAT

Find the missing letters in the pattem
_ . ccee e de d

(A) ccededdd _(B) ddddcccc
(C) cdcdeded (D) ccedeced

Pick the wrong number in the sequence
36, 20, 12, 8, 6, 5.5, 4.5

(A) 5.5 (B) 6
(C) 8 (D) 20

Corﬁplete the analogy, Ocean : Water : :
Glacier : ?

(A) Mountain
(C) Cave

(B) Snow
(D) Field

How many words are listed in the 1280
page dictionary ?
Statements :

I. Page 387 lists 200 words.

Il. There are 2000 words listed
under ‘A’.
Question can be answered by one

of the statements alone but not by
the other.

(A)

(B)

Question can be answered by
either statement alone.

Question can be answered by using
both the statements together.

Question cannot be answered by
either of the statements.

(©)

(D)
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35.

36.

37.

Complete the matrix :

12 | 15 | 21

8 7 | 26

2 | 41 | 34
(A) 41 (B) 60
(C) 47 (D) 51

While going towards the East, Tilak
reached a crossing. He wants to go to
University. The road opposite to him
leads towards a market, the road left to
him leads towards a community park.
In which direction is the University ?

(A) East (B) West
(C) North (D) South

]
Statement : Should school education
be made free ?

Arguments :

l. Yes, thisis the only way to improve
the level of literacy.

[l. No, it will be a burden to the
exchequer.

Which of the following is a strong
argument ?

(A) Only | is strong
(B) Onlyllisstrong
(C) Either | or Il is strong

(D) Both | and Il are strong

-10-

38.

39.

40.

00O

Statement :
Some hens are cows.
All cows are horses.
Conclusions :
I. Some horses are hens.
Il. All hens are horses.
Which of the following definitely follows ?
(A) Only | follows
(B) Only Il follows
(C) Either | or Il follows

(D) Neither | nor Il follows

When the paper below marked with
letters and numbers are folded, what
will be opposite to 0 ?

L
N|M|2
110
(A) L (B) M
(€) N (D) 2

A certain number of horses and an equal
number of men are going somewhere.
Half of the owners are on their horses
back while the remaining are walking
along leading their horses. If the number
of legs walking on the ground is 70, how
many horses are there ?

(A) 10 (B) 12
C) 14 (D) 16
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TR

I, TET, 358 TSI W U Sl e
Tefifaa A FR-TT T TSR as @ 7

(A) I | BT ©

(B) Heet |l TSI B
(C) AN | AT || W B
(D) 1 3R || T T B

1=

38.

39.

40.
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HAT
EERURIRLE]
aff M A B
ey

. ¥ e gifatd

I =it gifat o 2
AR - ARk S8 e
AR 7
(A) HET | STTET LT B
(B) Hae || STTHT LT &
(C) AT | AT || STFH Ll &
(D) TN 11 ATE HLAT &

e IR gEen ¥ R wrs = s
HIE A1 2 a1 0 % fwlia g ?

L
N|M]| 2
1 0

(A) L
(C) N

(B) M
(D) 2
ST sh Teh TAT 3T T TEAT H STEHT
FE SR 8| TR Hiicies 3794 Sel <l 1
WS & 3R FhI AT T8l & 370 9 '

B | Afe i W oo et 2R 70 ® e
"R E ?

(A) 10
(©) 14

(B) 12
(D) 16
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41.

42.

43.

44.

45.

| D 0 OO0 0 O 0

iii) Arithmetical and Numerical Ability

The perimeter of a semi-circular plate
of diameter 14 cm is

(A) 22cm (B) 30cm

(C) 36cm (D) 40cm

The sum of the ages of a father and
his son is 45 years. Five years ago, the
product of their ages (in years) was 124.
Their present ages are

(A) 36,9 (B) 40,5

(C) 24,155 (D) 35,10

Ms. Sonika invested Rs. 6,000 for 3 years
and received Rs. 1,080 as interest.
Then, the rate of simple interest is

(A) 7% (B) 8.5%

(C) 6% (D) 10%

Inwhat time will Rs. 4,000 at 3% simple
interest produce the same income

as Rs. 5,000 in 5 years at 4% simple
interest ?

(A) 8 years
(C) 8.33years

(B) 9 years
(D) 10 years

What quantity must be added to each
term of the ratio 8 : 15 so that it becomes
equalto 3:57?
(A) 3

(C) 2.5

(B) 4

(D) none of these

-12-

46.

47.

48.

49.

50.

X
If X2 + 6y? = 5xy then ;:

(A) 2or3

(B) 2or4

(C) 10r3

(D) none of these
9 %

Value of (—J IS

® %

© 8, -

4
(A) 278

© %

The largest integer which divides 105
and 315 is

(A) 315
(C) 105

(B) 15
(D) 5

Compound interest on Rs. 18,000 in
2 years at 15% per annum interest is

(in rupees)
(A) 5,000 (B) 5,805
(C) 4,500 (D) None of these

Two men X and Y start from a common
point. X walks at 5 km per hour and
Y walks at 4 km per hour. How many
kilometers will they be apart after 3 hours
if they walk in opposite directions ?

(A) 3 kms (B) 9kms

(C) 27 kms (D) None of these
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41,

42,

43.

44.

45.
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iii) ST vd weaTeres Tt

I Qy BT, & Tk AR vl i
e 3 '

(A) 2231, (B) 30T .A.
(C) 36d.1. (D) 4071,
T T TR 356 G ol ST I AFT 4598 |

- UE TN, 3 T (TNt H) w1

124 o7 | ST SAHH 31
(A) 36,9
(C) 24,15.5

(B) 40,5
(D) 35,10

ot @feT 3 3 9t & 1T % 6,000
e foram ST o= % ®9 H 1,080 & W@
Tohu, e T ST oht o R oft 7

(A) 7% (B) 8.5%

(C) 6% (D) 10%

%. 4,000 3% UER ST W foha= T8
% et 3T e 0 B 3. 5,000:
5 981 H 4% HTEIRYT o4 | Hal ¢

(A) 8% (B) 9ay

(C) 833a8 (D) 10a¥

ST 8 : 15 % U U8 ¥ 41 ST S
fFag 3: 57T ?
(A) 3

(C) 25

(B) 4
(D) T Y HE =
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46.

47.

48.

49.

50.

. X
?Tﬁ'x2+6y2= Sxy?ﬁ ;:

(A) 2913 (B) 2314
(C) 1313 (D) 8 A . T
o\ %
A 27 ® %
©) 24 D) 8
I8 & UTR ST 105 3R 315 % e
(A) 315 (B) 15
. (D) 5

(C) 105

¥, 3¢,000 3 I A % i ¥ w
g SIS § (1 H)

(A) 5,000
(C) 4,500

(B) 5,805
(D) ¥ @

A =afF X 3 Y T I g A I
HAE | X 56, g o
Y 46, it s w e R | f e
S 9 e Tobett HiX X e Al S farwdia
et A =era © 7
(A) 3Tk

(C) 27 T,

(B) 9 fh.Hi.
(D) SHUSE T



MKG-XI/TECHTGTUF/1T/04

51.

92.

58.

54.

A sum of Rs. 41 was divided among
boys and girls. Each boy gets 90 paise
and each girl gets 65 paise. If there are

 altogether 50 children, find the number

of boys (B) and girls (G).
(A) B=34,G=16
(B) B=16,G=134
(€) B=25.G=25
(D) B:=30,G =20

The average of 49 items is 24 . If one
more item is added to them, then the
average becomes 24.5. Then, the value
of the 50" item is
(A) 50
(C) 49

(B) 25
(D) None of these

The selling price of an article is Rs. 3,680
and profit percentage is 15%. The cost
price of the article is

(A) Rs.2,200 (B) Rs. 3,200
(C) Rs.3,000 (D) Rs. 4,000

In a class of 50 students, 15 do not
participate in any games and the rest
play atleast one of two games Hockey
or Kabaddi. 25 play Hockey and 20 play
Kabaddi. Find the number of students
who play both.
(A) 45

(C) 15

(B) 10
(D) 30

14-

55.

56.

97

58.

59.

60.

00O OO0 0

Which of the following is not a rational

number ?
(A) 2 ® ~%
(D) =

(C) O

If the surface area of a sphere is 2464 cm?,
then its volume is

® 1222 o

10000 3
Tem
3

10°
~———=1CM
3

(B)

(©)

None of these

(D)

A train runs at a speed of 28 kmph for
4 hours and at 30 kmph for 5 hours and
the remaining 48 kms in 1 hour. What
is the average speed in kmph ?

(A) 30.2 (B) 40
(C) 30 (D) none of these

Divide 36 into two parts, such that the
sum of the reciprocals is %

(A) 25,11
(C) 10,16

(B) 24,12
(D) 14,22

When 40% of a number is added to 42,
the result is the number itself. Then, the
number is
(A) 50
(C) 70

(B) 60
(D) none of these

What percent is 7 paise of Rs. 75 ?

(A) 28/ ® 3%g
(C) 7/?5 (D) none of these
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51. % 41 &l Ts URT asF 3N Aeimal
e 7 R | T @ 1 90 T
31 I el &l 65 U e § | IR
50 =21 § 1 oI (B) 37K @il (G) i

T {1 |

(A) B=34,G=16
(B) B=16,G =34
(C) B=25G=25
(D) B=30,G =20

52. 49 WAl &7 3iwq 24 2 | IR T wm aff
TS Se KT ST R, 1 oid 24.5 B ST

R (A1 50 eI R
(A) 50
(C) 49

(B) 25

53. Ueh 9% 1 loa e 5. 3,680 © TR A™

TfRIT 15% 2 | I FT T qea R
(A) ®. 2,200
(C) %.3,000

(B) %. 3,200
(D) %. 4,000

54. 50 T £ v wan #, 15 B @«
F w1 7 o 3 A et S 2R
T Y 6T Y TH T © | 25 Bl Ter
7, 20 %ol G @ | 39 el gemn

TG L S SHT O @Ad & |
(A) 45 (B) 10
©) 15 (D) 30

(D) T A HE T

-15-

55.

56.

97,

58.

59.

60.
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Feforiea § @ wR - ufer gen TR 7

®) ~%

(D) =

I T TRl 1 IS et 2464 . 2
®, I SHehT TG 2

(A) 10276 7 %,ﬁvs

(B) E%En#ﬁﬁ

(A) 2
) 0

m)2§n@ﬁ.

(D) ¥ @ =1 7

T WTE! 28 et ufy s wfa @
4¥caadre, O 30 T . afrserdmfas
5 ¥[¢ 3TN =7 5T 48 TRt i s iy
T 1 F At = | Th AT ufd ger d ofa
AT ?

(A) 30.2 (B) 40

(C) 30 (D) ¥4 8 B T&
36 %1 3 FITH 36 TR STeT o Sqep o
aw Y @

(A) 25, 11 (B) 24,12

(C) 10, 16 (D) 14, 22

ST Ush T T 40 % 42 H S A[T1 e,
a1 IRomT 98 37 W BT, 1 SE e

(A) 50 (B) 60
(C) 70 (D) 319§ %18 2t

7% 75 . 1 f TR R 7
(A) 287 (B) 3.

© s () ¥ ¥
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61.

62.

63.

64.

LR R L

iv) Hindi Language and Comprehension

=0 wm s =

el Seg 2| 65. %a+€$r:§f§muaﬁ:r%m§xfg?
(A) g™ (B) Tersraor (A) =I5 - (B) .
(©) (D) (C) Eﬂwﬁf (D) Fwfe @fér
B ‘ 66. TT=fcTRad § & ‘SRR Y15g 1 WA
3T IR ST | ST N ST e
Eo i (A) T8 (B) HI=
(A) Ty S (C) 3IT& (D) af&
(B) s 67. %ﬁam’raﬁ BN T BT
(C) form fomram (A) FHURE TG (B) T T
(D) TEM (C) e (D) wEsfife A
frefcifiad wreat =it SRt eaf¥ell 6 W | 68, ‘FT I HE I AW 3W A | HHH
st ERiNE %

(31) (@) (A) H (B) W '
1. geft 3, PR (©) ﬁ}' By FH
2. HgH AT, G-THAT 2 69. TR ¥ aaamwm%@wﬁ
3. §a 3. TR (A mgmglaﬁ

. e (B) 1
4 S5 s e (C) T T TRl oft)
W) 1-% 2-F 3-3T 4-3 (D) Tt e TR
(B) 1=31 2=3] d== 4-3% 8s e R
e : | 70. ‘oo e H T TR ¢
(" 1=31 2=d g gogy A T i)
@)y't=3 2-2% 33— 4-on (C) i (D) G
FEffed "o TR WS A | 71, o R IR W S W % W
IIea1 O ey | Siicel

(31) () (aigﬁaq% ()
e 3. T 1, & T TaE o, TEE
2. WYAREAH I, Fika 2. SrewATE o g
; . . 3. TS FBTHATEl 3. WA
' ““.il %) 4, SR FRIadHis < w9y
4, IR 3 39 Rt
(A) 1—31 2~3 8-3 4-3 A) 1—3l 2-% 3-8 4-%
(B) 1-3 2-% 3-3T 4-3 B) 1-3 2-3 8- 4-%
C) 1-3 2-% 3-3 4-a31 1= 2= 8-% =3l
(D) 1-31 2-% 8-% 4-37 D) 1=3 2-30 3-8 4-%




{0 0 A O

72.

73.

74.

75

‘e e sia T 9§ B
(A) T (B) =T .
(C) Sfra (D) =
Toetm wrsai 6 e ffm)

(1) (@)
1. 38 1, IR
2. 3H T, 3T
3. T 3. 9
4, ARE 3. for -
5. &Y 3, T
(A) 131 2%  3-% 4% 5-3
(B) 13 231 33N 4% 5-%
(C) 15 23 331 43 5-3
(D) 131 23 33 431 5-%

BT

(A) HIET T&Ih e |

(B) WIET T WEdr T |

(C) WIET ¥ Y& 9Q 9 & |
(D) HiEd ¥ T TEl A 2 |

STrea ferfu)

(%) ()
1. 25 3, IR
2. 78 3T, Tt
3. 38 3. 3™
4. 54 3, dedm
5. 29 3, 999

(A) 1-3M 2-31 3-% 4-3 5-3
(B) 1—-31 2-% 3-3M 4-3 5-%
(C) 1-3 2-3 3-3T 4-3 5-%

(D) 1-3 2-3T 3-31 4-% 5-3°

=17=

/0.

Y

78.
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Shfe |

(1) ()

1. T-qREFET 31, I e MuS
2. TS & 3. g 3
3. IS THAT 3. ST AT
4. faecefizgmr 5. SoeEh
(A 1-31 2-3 3-31 4-%
By 1=% 2-3F 3-3 4-3m
Cpili=%, 2- 30 3-3+ 4263
(D) 1-3 2-%  3-3 4-3
YT T gEae AR $E 99§ UM
B

(A) Tersmo

- (B) Hfeqarae g
(C) WrEaT=® T30
(D) HH FHRH
A T T |
(A) Hrar = T

79.

80.

(B) UM 9ETe W =l

(C) U™ 1Y 97

(D) B\ 3 °WA €31

“Brfl SR I8 9 Sga U BT e
(A) BT 3T ?1(B) eft |
(C) Bt 217t 31 (D) 1Y T R |
(A) T, T, S

(B) TN, TS, I

(C) STEHT, &4, Al

(D) U, ©t, g&l
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v) English Language and Comprehension

ST wTn SR A

Select the sentence which is grammatically

wrong.

81. (A) Nobody known it better than me.

(B) You may do as you please.

(C) |am so deaf that | cannot hear the

thunder.
(D) He is older than he looks.

82. (A) Each of these substance is found

in India.
(B) Either you or he is mistaken.

(C) Many aman does not know his own

good deeds.

(D) Sanskrit, as well as Arabic, was | gg

taught there.

Fill in the blanks with correct idiom.

83. If you see a bull in the pasture,
(A) make yourself abundant
(B) make yourself invisible
(C) make yourself seen
(D) make yourself scarce

84. That was a

the cyclist.

(A) close catch
(B) farcall

(C) close signal
(D) close call

Select the antonym of the given word.

85. EVOCATIVE
(A) eventful
(B) callous
(C) evoke
(D) charitable

the bus nearly hit

86.

87.

89.

ACCEDE

(A) demur
(B) proceed
(C) acquiesce
(D) recede

Use the correct verb and fill in the blanks.

The clock has
(A) strike
(B) struck

_five.

(C) stricken

(D) stroke

They have
(A) sheared
(B) shorn

the sheep.

 (C) shear

(D) sheam

Christ

(A) forgive
(B) forgave
(C) forgot

(D) forgiven

his crucifiers.

Compiete the following sentence using correct
options.

90. The gem is too small

(A) thatit can’t be seen with the naked
eyes.

(B) to be seen with the naked eyes.
(C) for seeing it with naked eyes.

(D) that nobody could see it with naked
eyes.
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1.

As soon as the speech started,

(A) then the demonstrators rushed to
the platform.

when the demonstrators rushed to
the platform.

the demonstrators rushed to the
olatform.

than the demonstrators rushed to
the platform.

(B)
(©)

(D)

Change the following sentences to
affirmative.

92.

93.

Pick out the word that is most nearly the same

Ram is not so foolish as you think.
(A) Ram is a wise person.

(B) Ram is not very wise.

(C) Ram is wiser than you think.
(D) Ram is not wiser as you think.

| don’t possess anything else.
(A) This is all | possess.
(B) My possession is not much.

(C) My possession are not better than
others.

(D) None of the above.

in meaning as the words in capitals.

94.

95,

VICARIOUSLY

(A) loudly

(B) daringly

(C) with deliberation
(D) by substitute

REPEAL

(A) to pay back
(B) undress
(C) say again
(D) withdrew

MKG-XI/TECHTGTUF/1T/04

96. Ishallbe glad

in this matter.
(A) of

(B) for

(C) with

(D) at

Don't hanker _
position.

(A) in
(B) after
(C) for
(D) by

97.

He dwelt at some length
problem of student unrest.

(A) in
(B) for
(C) on
(D) through

98.

Add suitable question tags.

99. | needn’t get up early tomorrow

?

(A) need |
(B) dol

(C) don'tl
(D) should |

100. Have some morerice.
(A) do you

(B) don't you

(C) will you

(D) can’t you

Fillin the blanks with suitable preposition.

your co-operation

_ wealth and

the
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191.

> 189

193.

194.

195.

There are types of skills in
English.
(A) 3

) 5

(B) 2
(D) 4

Drilling is a type of
(A)
(C)

Approach (B) Example

Method (D) Technique

is a type of module.
(A)
(B)
(C)
(D)

Self-learning
Self-discussing
Self-evaluating

Self-studying

is the full form of TLM.
(A) Teachers Lower Material
(B)
(C)

(D)

Teaching Learning Material
Teachers Lacking Matter

Teachers Lost Material

There are two main ways that we tend

to teach grammar

(A) Deductive and Inductive
(B) Internally and Externally
(C) General and Special

- (D) None of the above

D8

196.

197,

198.

189

200.

00 O O 0O O

Deductive reasoning is essentially a
(A) Down-Top (B) Top-Down
(C) Up-Down (D) Down-Up

The one objective of Harvard Science is
(A)

Provide highest level of education
to public health scientists

Provide highest level of Moral to
public health scientists

B)

(C) Provide highest level of education
to poors

(D)

Provide highest level of education
to workers

Karl Popper was one of the most
influential philosophers of science
of the

(A) 18" Century (B) 19" Century
(C) 20" Century (D) 17" Century

What is full form of N.P.E. ?

(A) Nation Policies on Eamings

(B) National Payments on Earnings
(C) National Policy on Education

(D) National Predictions on Education

believes in the growth
and evolution of the child towards the

~ Infinite.

(A) Pragmatism

(B) Idealism

(C) Realism

(D) None of the above
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Sefigaml % fore wewergut sde

12
13.

14,

15:

17.

18.

18.

This booklet contains 32 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue/ Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle should
be shaded completely without leaving any
space. The correct method of shading is given
below.

Wrong Method Wror:g Method ‘ Wrong Method || Correcl Method

The Candidate must mark his/her response
after careful consideration.

. There is only one correct answer to each

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If you
blacken (@) more than one circle againstany one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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13.

14.
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17.

18.

19.
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Go through instructions given in Page No. 1 (Facing Page)
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